R10

100 to—monitor
Even pins of return connector
R9
100 to—monitor
Even pins of return connector
R17 10k
g > g +12V
audio groun
Pin 7 of return connector R13 10k >
Even pins of bus connector H2v
mix—b’fjs+ level = -8 dBu 12V
C3] | 100u 6N\Js R6 10K R14 10k
A ug ! 28 R25 10k | ¢
R29 iy Ut >
3
1Meg + \}4 level adjustable —17.5 dBu to —.7 dBu W
“1ov corresponding to final output C9 22p
audio ground v -11.5 dBu to +5.3 dBu
Pin 7 of bus conhector Rs
R5 20k R7 ce cw
vV V 3
3320 20k C10 22p
c4 | 22p c5| 22p }7
) stage gain adjustable -9.5 db to +7.3db
overall gain -3.5 to +13.3 db
+15v —=R26 10k
Pin 1 of bus connector ==
in
> Pin 1 of return connector R15 10k
S A%%n
Ji Ul pin 8 U2 pin 8
+12V +12V
o D1 D3 J;
1 = in 1 of meter connector R16 10k
+ c11 For floating configuration: +iz2v
XZ 100U 100u R21, R22, R23, R24, R27,R28 =20k | p1g 10K
X3 X3 R25, R26 = 1Meg
D7 ~ ~
L L For non-floating configuration:
R25, R26 = 10k
F1 Omit R21, R22, R23, R24, R27, R28 8 22p
Pin 8 of R1-45 This circuit is repeated
8 times
Pin 4 of RJ-45

Pin 3 of return connector

R25, R26, R27, R28, C9, C10
really do connect to chassis ground,
not audio ground

Pin 3 and 4 of meter connector

Pins 9,11,13,15 of bus connector
connect to same pin of return connector

chassis ground AL
Pin 3 of bus connector -
-15v
Pin 5 of bus connector
OZ D2 D4
J2 Ul pin 4 U2 pin 4
-12V -12V
]
1
D8 C12
100u 100u

F2

o
1 x3 1 x3
- —

Pin 5 of return connector

in 2 of meter connector

Pin 7 of RJ-45

R19 100

out-
Pin 2 or 6 of RJ-45
Pin 6,8,10 or 12 of meter connector

R20 100

out+
Pin 1 or 3 of RJ-45
Pin 5,7,9 or 11 of meter connector

Output Board
non-floating configuration.
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